
T

ř

e

š

e

ň

 
p

t
a

č

í
 
1

0

 
k

s

 
p

o

 
8

 
m

 
(

5

x

 
K

a

r

e

š

o

v

a

,
 
5

x

 
K

a

š

t
á

n

k

a

)

S

O

1

 
I
N

T

E

R

A

K

Č

N

Í
 
P

R

V

E

K

 
I
P

6

 
-

 
D

O

S

A

D

B

A

S

O

3

 
O

R

G

1

 
-

 
O

C

H

R

A

N

N

É

 
Z

A

T

R

A

V

N

Ě

N

Í

P

S

 
2

s
t
.
=

0

.
0

3

0

0

0

P

S

 
3

s
t
.
=

0

.
0

3

5

0

0

S
O

2
 -

 T
ů
ň
 T

H
1

P

S

 
1

s
t
.
=

0

.
0

2

7

0

0

KOORDINAČNÍ SITUAČNÍ VÝKRES TŮNĚ TH1

M 1:500


